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1.

There are 150 obpective mullplc choice questions in this Qucatien Beoklet, The Quéstion Booklet is made of the fllawing four
sections : Sectlon-1 s of 30 questions, Seclion-1l consists of 2 languages — ane first language, the other s=cond langusge. First
languege Hindi is compulsory for all students having 30 questions. Second language consists of bws languages — English and

Urdu of 30 questions each. The Candidate has o answer either one — English or Urdu as per hin/her Application Foem.

Seenion N and Seclion-IV each has 30 questions. aﬁ?m

w5 T | A a0 AT T § | T ar apil § fata & ;o9 8 a0 T, Mg 8 9
o — U TSR T, g whmwﬁaﬁﬁmﬁ%ﬁﬂaﬁm&iﬁlﬂmmhfﬁhwﬁﬂw
§F _ stieh A 7% T s030 wen §1 sl @ N ETT W W SAR R v - St v g wm ww S ¥
ST-qn A Ay 8 AR 0.0 99 ¥

In Section-ll, candidalé las to Attempt the guestions of Hindi language compulserily and any of the two Janguages — English
of Urdu &a per fis/her Application Form. A

w8, sl T % A W A B W Ue e e s — S s 9% 4 © el ow e A
HAT R F AR S

The candidate hrs to atiempd all sections, Each question i of ¢ne miark. There is no negative marking fof WIGOE Anaws.
The OMR Answer Sheet consists of three coples, The candidate con take the last part of the OMR Answer Sheet along with
the Questlon Bunﬂ-tim%mmmthnhﬂ. X
kAT 1 W AT H I b urE T W T o ) e 9 & feg Prtfer wilen = g omR T
o ) A W | affen Wi STEA TR st oMn TE wAE W W Wi od i o e £

The question paper is made up of Lthe llowing sections as tabulated below @ -

P i 9 e, 7 S R 7 R Sl o e e & -
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Ne. of Questions/Se 0¥ - 150  Time/AFIEY - 90 min/f2 Full Marks/gvE - 150
Ho. of Question Nos. .
s;;t:ﬁ Contents / fea—wmwdt Questions ¥ v Bige Nea. [ 2 TO
! T | prom /H | Te/WE From /8 Ta/TH
' | Pedsgogy / TermTRE 30 1 30 2 7
m Languages f W
' [Fizst Lasguags / WeIW 1Y) :
Hinai =t 30 31 60 8 11
(Compulsory Fard)
{Becond Language/TERT HTAD) &
Engllsh /3 l{:‘:% one 30 61 90 12 | s
Urdu/ 7§ / ®iE T ) 30 61 20 16 19
nj | Mathematics / = 30 21 120 20 25
sy} Environmental Studies
1 welaeon 30 121 150 26 30

Read the insttuctions in English & Hindi at Page No. 32, last page of this booklet.
forder 7o W g & o o g WEAT 32 W s wa e A w
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sncr_mn-um-:
PEDAGOGY / frammes

There are 30 questions in all in this Section. All questions are compulsory.
wymdFa 30wt ity ofEd £

The.stage in which a child begins to think logically about objects and events is know

as .

(A sensorl-motor stage [‘B] formal operational siage

[C) pre-operational stage concrete operational stage.
nmﬁﬁmhﬁmmmtﬁﬂﬂﬁmmﬂmwmt & o ¥
(A) HEEA Woig e B ity G s

(€ @ T s (D) ¥ frameE s |

Four distinct stages of children’s intellectual development were identified by

Al Kohlberg [B] Erikson

IC) Skinner D) Piaget.

Tl & dfF foFm ¥ W gee v S o ™ e

i Freed gm B) i gm

[C] A EW (D) oo g

Parents should play a ........................ role in the learning process of young children.
4 negative (B proactive

(C] ~ sympathetic (D) neutral.

o9 AGES wwl & AR TR Sty 1 yfde B4 "

(a  Frvers B) ke

€ wETE L D) [N

Which is the place where the child's cognitive development ts defined in the bes
way ?

(A Playground (B) School and elassroom

(C)  Auditorium (D) Home.

T & T frEm W TR o= 7% A s shafw Em W wwa § 2

() wAFREY (B) oo @ W

(c) fedifiom o o TEH

- .. Iz considered a sign of motivated teaching.

(A Mamnum attmdanctmclasa (B) Remedial work glven by the teacher
[C)  Questioning by students (D)  Pin drop silence in the class.
.. % ufia fnem & 0w %0 & w9 F faafam frm a0

1A) iﬁ!ﬁlﬂ‘ ﬁfﬁmmh - B Tows g o sveweew w
c) faenfiti gm g D) = o gl FrEm

Al lower classes, play-way method of teaching is based on
&) theory of physical education programmes

(B) pﬂnelplea of methods of teaching

IC)  psychological prineiples of development and growth
(D)  soclological principles of teaching,
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frer el # foso =t e fafy smafa #

A it feren srdwel ¥ fegm W B) frew =1 fafudl ¥ fagh @

i) fowm w@ ofs & Wi fagm = (D) finmm & wrfoe faghdl @
7.  Dyslexia is associated with

(A) mental disorder [B] mathematical disorder
IC) reading disorder (D) behavioural diserder.
Famafrmm ddfua

() AFrEE faER | (B) o famm @

() v=A fawr & (D) = fawn &

8. Education of children with special needs should be provided
{4) along with other normal children
(B by methods developed for special children in special schools

[C) in special school
(D) by special teachers in special schools.

fadm =7 | wETdE W= @ e w1 wEy g ey
(A) E W A Y
B) ferdra Formreral o Fardm =i o forg fantom fafirdi gm0
() fav famem 7
(o) fedra ferameral & fadr finernl B0 |
9. In the process of learning, motivation
(A} ~ sharpens the memaory of learners

{B) differentiates new learning from old
{C) makes learners think unid

(D} creates interest for |

e ¥ ¥ 3 i

(a) e = el W W A e g
®) T s @ Ty Afem w fadfe s @
) Uk v & st § wed o FwRE wa
(D) = e = o i % fog e w pawm
10. A student of grade 5 with visual deficlency should be
A  excused to do a lower level of work
(B) helped with his / her routine work by parents and friends
(C) treated normally In the classroom and provided support through audio CDs
(D) given special treatment in the classroom.
w7 o 3 =g gfe aen w=n w
W) =R & W w0 ¥ fon wE o afa
B) TEEH Afrs wrd § ve am-frm aw fiel @ serm s wfee
(C) a0 WA ¥ A wAts wOW Wiy ud onfea el % Wit wenmm wEm w5,y
(D) N ® favr FaiE F0 TOEC |
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I'd.

13.

14

15,

18.

. ‘To maintain interest among students in class, a teacher should

) use the blackboard (B)] discuss

(C)  tell stories (Y ask guestions.
a7 1 faenfifdl =t f= @ A ¥ fom o foes ) afm @

(A)  FEETE W WE B == F

iC) = we (D) w¥ q& |

Why should students play games in school ?

(&) It makes them physically strong

[B] It makes work easier for teachers

IC] It helps in passing time

(@ It develops co-operation and physical balance.
feremferal =t farerers o demn wif afaa # 7

A e = wrifE 9 A v T

(B) uE fwwi & firg %19 HER

(€) =% ww faad A e fm

Dy 48 wedm g wifts dqem w1 fawm om0

Family is a means of

(A  informal education (B) formal education

(€}  non-formal education D) distance education.
ofan o weA &

A aiEfer e | By srTariE foen

() R-drrafes fam w0 D) e fan =1 0

A teacher can develop social values among students

(A) telling them aboul great sense of discipline
{C) behaving ideally ood slores.

rer o ferenfefal  mmfores et

(A WER i & AR W At By T ® svfa F fawfm w1
(C) wmee w9 & wata W (D) 3 st weal g |
What (s most impertant for a teacher ?

(A To maintain discipline in class (B) To be punctual in class

(C]  To remove difficulties of students (D) To be a good orator,
T foes & fom were weeqol #n & 2

&) Fe H SR T (B ww o T e
(€} fenfefdi w1 wfomg! # g w0 (D) & Hawm E |
Blackboard can be included in which group / categery of teaching aid ?

(A Audio aid (B Visual aid
11 Audio-visual aid (D] None of these,
varaz =i T o wrl F e e o snfw e w2
A) == A (B T/ mne

IC) T¥9-7= anA (D) o & = 7
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17,  Which of the following is related with teaching skill ? .
{A) Blackboard writing (B) Solving questions

{C) Asking questions (D) All of these,
e # A @ freror worera @ weiftg & 2

(A} wEmvE W faa B) W F A FEN
© wHEYET D) THIATH

18. Students who ask guestions in class should be
(A}  advised to meet the teacher after class
(B} encouraged to participate in class discussion
{C)  encouraged to continue asking questions
(D) encouraged to find answers independently.
T o i faened v gEd § R
A} ®E ¥ AR faers @ faem @1 weaw & W
B) wW ==t § wer A% F fo Wicefea o s iy
© AR 9% 927 % fAQ yiedfed F1 ey
(D) & T4 W IW g & o diewfem w=wm =y

19. Kindergarten system of educaiion was proposed by

{A) T. P. Nunn (B]  Spencer
{C} Froebel ' ' (D} Moniessori.
faen ®it fevsTmes 95fa =1 wiieeT
(a) feo fomA |B) WA
€ WR= 3 - (D) WRED Y
20. A guardian never comes ta see you in school, You will
{a)  ignore the child - © (B) write to the guardian
(C]- go to meet him yourself (D)  start punishing the child.
uF AfyweF sl faarer A fued & fog oit 78 s & 1 e
(A) e 3w wE ' (B whvEE =
(C) = @=d I faery i ' (D) == W TUS TN YE HE |

21. - How will you bring a hyperactive child on the right path ?
{A) Make him sit in the front row and keep a strict vigil on him
(B} Allocate a seat for him in a corner of the class
€}  Give him tasks of cleaning the blackboard, etc.
{D} None of these. .
319 Wk AfTafEra e+ FQ w fgon F | @7 2
Ay A et 9fE ¥ denh om 3w w5 T @R
(B) U w81 & ®wMA § Az F1 9w Fyifa #5
() A TEYE 2R A/E FHE FHHW A
D) A&
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22,

23.

24,

25,

26,

Children’s attitudes towards persons of different ethnic groups are generally based
upon

A} attitudes of their parents (B)  attitudes of their peers

IC)  influence of television D) attitudes of their siblings,
EH—WWF@#W#!HH%TMWMME
W T A 3 frfa o B T avH # sifigf w
(C) Fref & wwmEm (D) 7% WErel %t arfigfa o |

You have been told to accommodate two mentally retarded children in your class. You
will

W refuse o accept them as your students

(B)  tell the principal to accommodate them in another class exclusively for mentally
retarded children

[C)  learn techniques to teach such students

(D) none of these,

A A w2 o i a9 ded & e d )

W a7 el v e wE D e wh)

(B) ,;mmuﬂﬁmmmﬂfhﬁqﬁmﬁtfquﬂﬂmﬂﬁfﬁtﬂhﬁ
e i

(Cy R famnfildl &t firamy #) wrder g

(D) %78 & % =4

Atﬁchuhaxtobemoumeful.ltnms

Al he should have enough money and pro

(B] he should have contacts at highe :

(C)  he should have adequate k
students :

(O] he should have good reputation among students.

wF TeE F wE T e ey g s ¢

A mmmm-mﬁimmaﬂmmt#mmnﬁ

(B T i & = e § vk o el

() mmﬂhﬁﬁﬁmﬂﬂmwﬁm?ﬂmmm

(D) ferfifdi ¥ e 31 winfz oF whvg

Emotional adjustment of students is effective in

perty so not offer tultions

he problems of his

&) personality formation B) class teaching
{C] discipline (D) all of these.

T 3 HATeTS e el g ¢

W e el A B  Fw few

(C)  sreme § D) ¥ Ewd

The current view of childhood assumes that

W  children are similar to adults in many ways
(Bl children are best treated as young adults
(C)  childhood is basically a ‘waiting period'

(D) childhood is a unique periad of growth and change.
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27,

28.

29,

30.

T W A gfemm w5 R

(0) wET AE F T WIS & e v §

(B) &= = qE WHEAEn] & ¥ H waE W= A am d

[C) "= vifis w9 A W eyt R

D) T gfE v ot W U e i

In preparing a fifth grade class to take a standardized reading test, the teacher ls best
advised to

{A]  tell the children the test is very important and they should do the best they can
(B) mark key questions from a previous test and allow the puplls to answer them
IC) coach the below grade level readers, as the rest of the class will do well anyway
(D) gtve the puplls practice In answering questions similar to the type that will

appear in the test.
TF TATEA 924 Tien #@1 F fon o wa W v w0 d foew ® sfyefes woew fom

wm & fr

Ay wEl = e i whee T wewEg § ow @ T W A e wom
B T e § wE v Wl e el W I I 3w sty &
€ f= wfe F oew = v ¥ oafE ww % i o fee ot 7 | s v
D) whwm F srEE TR vER F W IR F f end ) s s
A child from a disorganized home will experience the greatest difficulty with
(4)  well-structured lessons [EI] indépendent study

[C) programmed instruction workbools.
mmﬁmﬁmwﬂmMHmm

@ g
I m.adﬂ%
You find a student to be I:nlclllgent

[4) remain pleased with him

[B) not give him additional

{C) motivate him so that he can make more progress

(D)  inform his parents about the fact that he is intelligent.

wmy T # fF o e t 1 am

W IEF Ty ER

B) T8 wffe e T

(€) = ¥ sfus wifa % 7% 78 T T8 S Wit

D) TaF sfinEs R gfmsR S wafoam b

If some students are not in a mood to study in the class, you will

ia)  force them to study

(B tell those students to leave the class

(C) warn them that they must study or else you will report the matter to the
principal

() tell them some interesting things related to their interest or your own subject,

afe yo famd W A e w1 fagfa o 8, 9 @

(A T Hum ¥ Ay ang w6

(B) 37 farenfef=i w1 wan Oz & forg wER

(C) T dmwE ¥ fw @ svmem s W AE W S e w g W=

(D) T T9%1 T9 e A9 A faw F aren e o i
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31.

3z,

33

BECTION -1
SPECIAL INSTRUCTION : There are questions on 3 languages in this Section,
Each language consisis of 30 qu:sllnn;. The candidate has to answer the questions of
First Language Hindi compulsorily, Out of the other two languages, the candidate has
to answer any one — either English or Urdu as Second Language. chosen by him /
her in the Application Form. Total number of Language questions to be answered by
the candidate is 60. .
For First Language qmﬂmnllumnmtnbemundhthenﬂm“r
Sheet starting from 31 to 60,
rnrhmdmm“nﬂimuﬂmnmhnnﬂuhmamnn-nr
Sheet starting from 61 to 80.
ferra e W 3 vs F v §, yoiw v F 50 we # | sl F) 9em v et &
Wl & T AP w9 R e E ) S e — s A=y A A et v @ T Rt
W ¥ 9 0 e o Tk s we Tl & F T 60 TE ¥ am o
mmtﬂhmﬂﬁﬂmmmwhxﬂmnhﬁmmt 1

&muwtmnuwﬁwmmmmﬁemmmhﬁwmt '

WA I
e

e o & g2 vt

FA-WMEF R 7

i) s iB) wfm_

iC) ¥PEF FE D) A ww |

4 ford 7 % fom v e wmT

o 4 H fom

A T (B) e

€ fufer (D)  swawE |

¥ wwd &

W o afE # Twn g B W fera # 3w wom ¢

€)= foon ®t sy ww D) = fsll % 3w o T e
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34,

35.

36.

3.

38,

a9.

440,

41.

qrav wEa &

VI e o B TEsiTmamaIn
(€) = wgn wem D) WMETTwWE |

v Hi-wit awm d

“offy-ofiy we ¥

W () fE fadrm

(€) e D) v R wd

fedwr : (36 - 38 ) ¥ = Tzl mu ¥, =99 wow T & g fefa
HIHTA

W = B 3
) @l m &9

o

A g4 B &

(C) =9 o 3

LLEr]

w  of

v v adda

i (39-41) A o= AW E | v w= # wgE T fan e e @ g
Ty

W (B) oW

cy = D

fefam

w B =

(S o

T

n = | =

i 3= D) #% |

10 |
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42.

43.

44.

45.

46.

47.

49.

50.

al.

& wore w1 T &
(&) =T B) Fumfs
(C) =T D) e
fe=t form forfa & formft wit # 2
W B)  F=ET
(C) st (D) e
wEm ¥ e dm 7
W o¥ B i
) wmE o ==
ﬁ!ﬂ:lu-ﬂ]ﬁﬁmﬂﬂ'uﬁtmmmmmm;
GV U L (B)  swwfm
iC) - sy Q) g |
W s B) R
[C) s D)  F=maf
L I L] B) g
© g HE1 0
Frafafem 4 4 #f=-=
VI [ Em
[C) = L I
sl w1 oiteerars % forg e v
) g | == fa=
€y Fwm gz Ly fwdfa
‘o | A e o A e e
W o Em B wHm
C) s o)  fordram
Fr=afefem & gfem e f=-a & 2
W |
. () TETE D) =

11 |
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52.

53.

54.

55.

56.

B7

58.

09.

G0.

‘g’ o1 whg-fase &

(a) WA

) W+

‘HERY o gi-fasdy wTm
(4 T+

) T+

faroneft s<ETT ¥

)  3he =R gy W

(C) = W

oy ITmeT ?

@) frwiwfa=

(C) &iH |/ F

Y- & &= e A (-) e R

(B
10)]

(B)
(D)

{B}
(D}

(B}
D)

B)
D)

{B)

(D}

(B)

(D)

(B

() eaEne foe

) =% M8

g T WE R e A g

Ay o™

© T fERem

A9 ferdt T Farredi A 9 TR WK F I HIOA
) o™

© =

fa T Prepedl & ® AR W T HI
A o=

© &=

fererfafe § § - wsg ' gd’ @ gterE € ¥ 2

y  fema
Q) et

(D)

(B)
(D}

g+ 9

9+ 3[ )

T\ + Y

T+ 19 |

o1 T i
< @ wfy =
srfE =) =i #1

707 TG | HT |

farmnfe s 93
IE (E% |

12 |
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61.

6.

63.

64,

G5,

SECTION - T

Second Language — ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory.

Which prefix can be used with the following words 7

take, chief, behave
€ i (18}

Fill in the blank with correct preposition :

He deals «.co.oooovvvvvennnn.. rice.
) i (B)
[C at (D}

dis

with

[£) 1 9

Which suffix can be used with the following words 7

spoon, mouth
Ay iy mB)
i) er (D)

For the question below, choose the best answer :

Shall we go to the gym now ?

(A I'm too tired B .

(C) Notatall (D)
Which is the adjective in the given sentence ?
The tall girl met a boy.

(&) tall (B)

(C) met D)

¥
ful.

It's very good

[ suppose you can.

boy.

13 |
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66. Choose the option that is nearly the same in meaning :

ancient

N new {B) mmint iC) aged (O] sage.
67. Choose the option that is nearly the same in meaning :

plenty

" ot (B) scarce C) gift () bonus.
68. Choose the word that can join the two given sentences :

Write properly. Don't write at all.

s) but (B) and i} so D or.
69. Choose the word that can join the two given sentences :

She is pretty. She is proud.

(A) but [B) . because

() while (D} not.

70. Identily the verb in the given senterce :
The leaves were yellow and sticly.
[A) leaves B)  were
0 yellow (D) sficky.
71. Which is not an antonym of the given word ?
lovely
(A0 “tall (B ugly (C) drab (D) awful.
72. Choose the best answer :
What is your city like ¥
Al 1 have no idea B) It's small, but nice
Q) 1like it a lot (D T don'tlike it
73, Identify the adverb in the glven scntence :
The wicked boy slapped the girl loudly.

A) wicked B) boy (C} slapped D loudly,
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T,

7o

T6.

7.

78.

79,

0.

21.

82,

Chouvse the word opposite in meaning to the given word

(€] posses ()

Choose the Incorrect spelling ;

& loner (B}
[C)  grammar (D)
Which is not a synonym of the given word 7
quarrel

@)  argument (B)
) discard (D)

Choose the correct word order

14 Music Jack loves (B)
(IC]  Jack loves music (1]
Choose the carrect moun .

It was my brother who went with ............ .
@ her B she ©

dryness

river.

unability
inability,

knives (%]

ricelve ()

drought

& floed (B)

iC}  brought (18]
‘Choose the word opposite in meaning to the ghven word ;

ability

&) feasibility B)

[C)  disability D)

Choose the plural of the given word

knife

i) knife B)  knifes i)

Choose the correct spelling :

A} ricleve (Bl recieve )

Choose the correet spelling :

&) posess B)

possess

posseis,

mathemetics
arithmetic,

bickering

quarry.

Music loves Jack

Jack musle loves,

he (D

knifey.

recejve,

his,

15 |
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83.

BS.

86,

BT,

9.

a0.

Wwhat are words that spell the same backwards called 7

(A  Anagram (Bl Abbreviatlon

() Crossword (v  Palindrome.

Choose the plural of the given word .

box

(A box (B) boxer )  boxs (D] boxes.
Choose the singular of the given word :

leaues
B leave (B) leaf
] leves (¥}  none of these.

Choose the option to which you cannot add — er at its end and form a new word.
(4] soon B) quick
c) tume (D) wick.
Choose the best option to complete the given sentenes @

There Arent o people here.
i)  much (B)] mmnany
] alot () ~some.

Choose Lhe best option o complete the glven sentence

You should ....ooovvrr e YOUD homework.
(A make B do
) work o glve.
Choose the correct word order :
(a) I lent my pencil him B My pencil [ lent him
[C) My pencil him'l lent {0 I lent him my pencil.
Choose the option to which you can add - ly at the end to form a new word.
1A 0011 (B] late
(C}] now (D fast
OR / Sresr

16 |
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m- ol
s = ey Wik
~ & et 30 b
~E AR L e 7
S GarE
£ (B) g (a)
£ (D) Le?(C)
S Ve intie 2 U, 2 e
1A (B) e
(3 (D) 5
St L L2 sl i F
Jo m Y
e e (o) d-dcé

/L~ By a bl (a)
tleg (D) LR (o)
rut G LK
4 (B) 2 (A)
9 (D) 5 ()
S Ve e b g L e A
wh (B ‘ O ow
= (D) S (o

61

B2

.63

64

-B5

H6

17 |
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Flea
A

(B)

(D)

(B)
(D)

(B)

(D)

B)

()

(B)

(D)

(Bl

(D)

(B)

(D)

(B)

(D)

e e ie Sote $7

-t (A)

A ©
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o1.

a2,

93.

G4,

SECTION - III- / Y19 - I
MATHEMATICS / vioTa
There are 30 questions in all in this Section. All questions arc compulsory.

WY HHe 300 § | mvit v sfEE ¥

A rectangular tank has length = 6 m. width = 2-4 m and depth = 1 m. Find the volume
of water if it is half-filled,

fa 6m?* B 64 m?
Iy B8m? o] 72 m?

TF A THT F FAE = 67, gy = 2.4 9 aw e = 1@ ¥ s w gon I wm
W A Erm

W ew B 6413

i) 6892 (D) 7.2 2

The distance between two parallel lines

[A) decreases (Bl increases

(C) remains same (D) may increase or decrease.
g T s W W S g

(&) mt (8), ==l ¥

(C) =TT TEdt # (D) w23 =g 9w § |
An angle measuring 270° is an cxample of

(&)  acule angle (B) obtuse angle

(C) right angle (I} - reflex angle.
270° W9 W FO Tw FEEIW E

W =7 = (B = ==

(C) HEHM & (D) wiaast = =
What Is the LCM of 108 and 144 7

(A 3sss B] 432

c) 648 o) 216,

108 #1144 %1 e We T T ?

(A} 3888 B) 452

C) s&as oy 216.
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g95. A triangle has sides that measure 5 c¢m, 12 cm and 13 cm. Identify the type of

Lriangle.
(A"  Eguilateral triangle {B) Isosceles triangle
{C) . Obtuse angled wriangle (D) Right angled irangle.
s Pt yenodi 0 T 5 #1256 [ 138 ¥ 1 TS w0 g T,
@ g B (B ey fge
() Al wm [ e e
96. Find the sum of the largest and least four-digit numbers.
(A 9999 B 10000
i) 10999 (D] 11999,
4 3 e gEEA T =pEn Wemnst W AT €
(% 9999 B 10000
€ 10099 (D) 11889,

97. The temperature first rises by 18°C and then falls by 23°C. If the initial lemperature is
27°C, what is final temperature ?
[y 22°C B 23°C
C) 24°C (D)  25°C
;ﬁlﬁm 18°C aga & fr 23°C 92 # L oqfs R s 27°CE, M ST A
7

W 22°C B 23°C
C) 24°C o) 25°C.
a8, Eva.lual,t:'
(=2)=(-3)=(-4)x (-S| 6
A - 360 (B 360
) - 720 D) 720.
ﬂﬂﬁﬁm;
(—2)x{-3)%(-4)x(=-5)x(-86)
(A - 360 @ 360
() - 720 Dy 720,
99. Subtract 3 kg 178 ¢ rom 8 kg 350 g
i) Bkgl72g B 4kg272g
C) 4 kg 172 ¢ D) 4 kg 472 g.
a Fem 35078 @ 3fFm 178 TR Wi wERT |
@ sfEmir2Um B 4fEFm zraam

() afEm 172Tm Dy 4fHm 47270 |
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1040,

101.

102,

103.

104,

Find the circumference of a circle whose diameter is 3-5 cm.

(Ad 11-3 cm Bl 11 em
<y 101 cm (D) 96 cm.
3.5 HA = 9 99 ) ity

@& 113 (B . 11+
() 10-1 %W ) 984 |
How many wheels are there in 9 tricycles ?

(w3 B 27

cy o [0y 18.

9 ZEHEhe | fHad oy g 7

w3 |\ 27

< 9 D) 18.
From a rope of 10 m long. 4 ; m is cut off. Find the length of the remaining rope.
A 5%m B 5im

i) 5im (D}, 5% ms

10 45l Siefl v T | 4 2 F T | e el W o 3

(A 53 |) G

© siH D)y 5 LA
Evaluate : 37.188 = 3.6.

W 98 B 966

(C) 1033 D) 11-8.
= AW Hifee : 37-188 = 3-6,

& 98 B 966

i) 10-33 D) 11-6.
How many four digit numbers are there between 999 and 3000 7
(4} 2001 (B} 2000

W1 1999 (D} 1988,
999 791 3000 % e 4 sil el feah demd ¥

#2001 (B) 2000

€} 1999 (D) 1998,
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105. Which of the following numbers divides 9361 without any remainder ?

(&) 12 (B) 17
[y 13 Dy 11I.
ot Frwww & Frer 7 A FR-a0 wom 9961 W favim ww § 2
) 19 |\ 17
) 13 D 11.
106, Carry out the operation as written, (9+T7)+4xbE="7
187 16
W = B a9
' 4
iC) 20 (D) g -
HE@ (9+7)+dxG="7
187 16
W = B 5
4
1<) 20 [[1]] 5"
107. Arrangement of the fractions in ascending order is
35 2 5 5 2 5 3
W 5§ 3 9 B § §.93'8
3 6 2 5 3 2.5 O
© §§ 38 D g 3.9 6"
fursifl = sminft R H T W famm
3 58 2 5 5 2 5§ 3
W 5.5 39 B 5.3 58
3 5 2 & 3 206 5
© 5938 WP (e 508t 6
108. Martin has some marbles. He lost 14 and still had 6 left. How many did he have to
start with 7
A &8 B 20
c) &4 (D] HNone of these.

Wi & wE Fe wew ¥ ol @ Aw 14 % o e it 6 ) oo F FwE T e
| 4§ ?

w8 _{P} 20

i) 84 D) T #w T
109. Stmphfy : %+%*({—Dx1%] .

m B 1%

o Y m 13
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110,

111.

112,

113.

114.

1,7 (7
maﬂﬂﬁq.3+g+(m;claJ

7

{eN] o B 13

(c) -%5:—? oy 13,

26 x 0.91 =7

(ay  2.366 B 023686

[C) 23.66 D) 2366,

How many halves in | :.IT,?

@1 | 2

[ (I3} None of these.
1y % fFat and & 7

AW 1 B 2

€ 3 D) ¥ % %6 ==
A4 B+ 432 _HT =7

W 37 B) 38

i 73 (D) 83,

What is the perimeter of a square If each side Is B2 centimctres long 7
(Al 64-16 cm [Bl 6724 om

IC] 328 cm () 162 cm,

8-2 Hl Tt W o et % o e &

W 8416 TH B) 6724 4+

(C)  32-8 A4t D) 1628wt |

A lin contains 20 lires of petrol. Due to leakage. 3 ltres of petrol is lost. What
per cent Is present in the Un 7

A 66% % B 68%

C) 82% m  B5%,

wﬁa%aﬁaﬁzmﬁﬂﬁﬂa’tuﬁﬁmiﬁmséﬂaﬂﬁaﬂﬁtﬁﬁlﬁwﬂﬁﬂﬂﬂm
whER ¥2te ® 2
B 663 % B 68%

) 829% (D) B5Y%.
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115.

116.

117.

118,

119.

120

3 pencils cost Rs. 20. How much will 6 doxen cost ¥

(A) Rs. 40 (B) Rs. 48
[C) Rs. 480 (D) Rs. 400.
3 W = gea B 20 ¥ ) 6 =5t =1 e e R 7

{A)] To 40 (B) %o 48
{C) Fe 480 (@} e 400,

Evaluate 64 — 2 ga

= 4 B 8

(<) 16 (> 32
B4 — 2 ga w1 wa B

[N 4 B2 B

<y 16 (D) 32
What is the cube root of — -008 2

() -2 iB) - D-2
(C) - 002 D) - 0:002.
- 0008 T HTHA TN E 7

Al -2 (B - 02
© - 0-02 o — 0-002.
Estimate to the nearest hundred 496 phas 318,

A Bl1a ’ @ 800
() 178 | (¥ 700,
496 [ 3189 Frezan e H AA

w814 |y 800
) 178 (D} 7TQO.
-G =7

w3 w4y
© 38 o >

2 13 + g_ = 7

w3 ® 2
© 3 o) 3.
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BECTION = IV / I - IV
ENVIRONMENTAL STUDIES / Tofaor symyags
There are 30 questions in all in this Section. All questions are compulsory,

™ MM = go g | At s £

121. The example of an ccosystem ig

(4 alr (B] pond Tl water ) soil,
wifeafirsl 12 = wwEm
w =g (B) A C) == o &
122, Which Is not a biotic factor 9
(A Plants (B)  Animals (C)  Micro-organisms D)  Rocks,
Eicic e i I
B -y B =7 [C)  Hegeite D) wew
123. Most plants are Present in
(A} lithosphere (B hydrosphere
[C)  atmosphere D} photosphere,
AT g-dh wg ) #
W FErHEE [B) wemzm
IC)  amrEe (D) WeRrerEe &
144. Animals that feed on other dead animals are called
A parasites iB) decomposers
[C)  scavengers (L) omnivores,
A1 S Sl frafe o s A 5 g e g
W Rz B FhFEi
) D) s |
125. CNG is the abbreviation of
{A)  Clean Natural Gas {B)  Compressed Natural Gas
(C)  Carbonised Natural Gas (D)  Carburetted Natyural Gaas,
CNG Tifira &g #
W = A (B 9% g o
(©  FEHEE Yyt D) FHEE e
126. Which of the :'ullm;dng international organizations looks afier environment prolectio
over the world 7
A wwr Bl  WHO [C) PETA D) UN.
= F  #i-f FRETS e 9 fave H e ) TE Fe £ 7
PETA Dl UmN,

w)  wwr (B] WHQ ()
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127.

128.

129.

130.

Too much use of insecticides will cause

(4  air pollution (B} nolse pollution
() water pollution (D) all of these.
el ¥ et g § g

W =R B =k

) WA A D) & Al

A salt which absorbs water is called

(4] hygroscopic salt [B) anhydrous salt
(€} hydrophilic salt (0] hydrophobic salt.
v W e s o &, s

A TR B TEEEE T

[C] EEZTRES &0 D] ETEETEiEE T |

The term used for the conservation of ecosystems and natural habitats and the
maintenance and recovery of viable populations of species in their natural
surroundings is

()  Core conservation (B) In sty conservaiion

(C}  Ex situ conservation (0¥, Peripheral conservation.
mﬁﬁ?@ﬁﬁﬁﬁﬂmmmﬁwmﬂ,wﬁﬂﬁﬂﬂm
e % TavEE E v e s | |

(N} WE HEEE B e A

(C] IR HIE o) frdm oo

Ses turtles are called living fossils for they have been on the earth in their present
form for over 150 million years. Of the five species of zea turtles found in the waters
of the Indian subcontinent, which is the most populous species ?

(8] Keneps Ridley (Bl Loggerhead

[C) Olive Ridley (D) Flatback.

w&ﬁmﬁﬁmwmmi,mé 150 fafems =6l & o wiws T § g
wufeum ¥ |WthmﬁmmmﬁW$MMﬁMﬁﬁ

e fEmar & 7
W e e B} ©IWEE
i e fies D) THREEE |
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131,

132.

133,

134,

135.

136.

Which of the lollowing leads to global warming ?

(W Water pollution (B)  Soil pollution

(€] Air pollution D] Noise pollution.

= 4 A #F fava serA s & 2

W T e [B) =1 FeEm

(€)= D) = v

Oceans cover most of the earth’s surface. which is approximately

w3 ® . © 3 o 3.
WEHTH yesl g2 F iuwtn e Avgw Geo € S § e :

w 2 ® 5 © ; o 2.
Stalactites and stalagmites consist of deposits of

) sillea @ magnesium carbonate

[C) calclum carbonate D) sodium carbonate,
RewEE T womge § fEam g @

& e B) A e =

(C)  FieEras wmEie = () wHifgmm FEE #7

Which of the following is an example of air pollution

% Smoke and fog (B] Exhausl gas from cars

) Gases from burning wood or charcoal ([} All of these.

5 o & $17 =g v &1 wF s # 7 .

Wy o e . (B) W 3. fer e e
(C) el wwEt W W @ Pt A C) T A | )

The law lo prevent pollution in India and many other countries prevents the use of

A paper bags (Bl plastic bags
iC}  nylon bags (0} leather bags,

TR e T A W A B o e R o v e €
A & e B vl * &5

[C) e & e D] =9% % & 4
Which of the following causes global warming 7 .

(&) Gases from cars (B) Gases [rom trees
(€} Hetarr from oven D} Cooking gas.
ﬁﬂﬂmﬂsfmﬁqﬁﬂﬂﬂqwm% ?

(= A Pt 4 B =T g fret i
(Cr  wfgal % freet wd g D) T e
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137. What are metal bearing rocks called 7

{A) Bitumen () Bausxite ] Metalloids D] Ores.

e werR R wm am # 2

W fEEhe (B) AT () e (D) 9 |
138. Trees reduce pollution because they absorb

B sulphur dioxide (Bl carbon digxide

(C) - carbon monoxide (D} nitrogen.

Tz wgEw = wed ¥ wifw 3 s w8

) TEE ERAEEES (B) W EEHEENE

() R e (D) A |
139, Earthquakes are measured In

) Beaufort scale (B) decibel

()~ newion (R)- Richler scale,

sERF I e ¥

(&) wrErE e H (B) EdawH

) == (o Fom T A
140, Rise in water level in cceans is due o

(A}  melting of ice in pelar region [B) | excess rainfall

(C)  acld rain () none of these.

qEERT H A T giE w1 we

W) e wEw W as e B) | srafes ==

(C) s = (B B @ w
141. The percentage of oxygen present in air is approximalely

) 24450 B 23% ()  40% O] 21%.

Tan # gufeem seRdem = afaem & s

W 44% B 23% (€)  40% o 21%.
142, Which is the absolute iemperalure scale ?

4y Celsius [B) Fahrenheil (C) Kelvin () Al of these.

T AN T S - 7 _

(a) Bewmm 0 (B) HRERES () e L T #
143. Photosynthesis is carried out by

(4  all plants (B all animals and plants

IC)  all green plants (D) wiruses.

WETTETEET wata g ¥

(AT = i 111 - ca B ot T e didl g

() =t wY drdi g (D) ararEl A o
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144,

145.

146.

147,

148,

149,

50,

Noise or noise pollution 1s measured in

(%) phon B dect (C]  decibel (D) decimal.
v I e Sy A .

w wHE B © EEa (D) Eww )
Which of the following is harmful for the environment 7

(Al Paper (B Clothes ) Meral (D}  Plastic,
3 4 7 %7 wofaw & forg wfmes & 2

() =T B) == 1wy (D) wEs |
The mest harmiul sulphur containing gas in the atmosphere {5

w s B H,S ) SsF, o S0,
aE ¥ srafas s aew fafim g 3

& s B H,S [C1 sFg Dy s0.,.
Air pellution i1s reduced by

[&)  trees iB) fishes (C) animals @ sunlight.
T WA i FH o m www

(W 9af g (B) wefer gm (€} =i gm (D) w7 W gy
World Environment Day is celebrated on

{A)  5th November (B) 5th.January

{C] ~ 5ih June (D) Sth September.

Toea et femm wra o & :

W 5 TEE (B) | 5wt F

C) sIEH {D) & fammr a6l |

Which layer protects earth from harmful rays of the sun ?

(A}  lonosphere Bl O=zone layer

IC) Troposphere (D}  Magnetosphere,

A & wfee fevo @ gl # Fhh-m R wiE e

) T HES B #=EE

(C) & wEm (D) %= HEw |

Flora and fauna of a place indicate

(4  plants and animals [B) fshes and plants

(C} animals and fishes )  birds and plants.

Terelt =g & WD e v gfew =

W - g = B) wofdl T Tg-dvif #

() winedl oo wefe = (D) i o d-diedl = o
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Franed i o e ompr e § Pl vem o ww it s T &)

o

13.
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sEAnningG of your MR Answer Sheet.

Tt = 9ot ¥ A F T 3T omm Wi OF o | 6 4 A R i ¢ o | Wiy T T A o P e e
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Tt afa 1 | R e @ e £ e e vt v W A
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